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ooooogoooooo e

010000000000D0000000DO 45°0000 90°

oooo L

119.2km(J 00 35.1024.9730.2]29.00 0 0000000O0O)

ooo w

000000000 19.8knid 000 14.0 km

oooo §S=LW

1872.38 km (0 O O 694.981 348.6Q1 422.807 406.00)

goobooobood

4 km 18 km

ooooO 000000000 500000000500
oooooo Oooo(@oo)
0000000 My 1.95 x 10?2 N-m 2.48x10%° 2.70x10%°
0DO00oo0Oooo M8.20 My 7.5 M8.30 My 7.5 | M8.30 My7.6
000000 D= My/(uS) 297.6 cm 377.9cm 411.8 cm
000 p=pp? 3.50 x 1010 N/m? oo
sSOOO Vy(ooo B) 3.6 km/s 00
oooooooag v, =0.72V, 2.59 km/s 00
O000000 As = (7/16)Mo(nr/S)*/? 5.9 MPa 3.1 MPa*! 3.1 MPa 8.1 MPa
oooooo A 3.07 x 10* N-m/& 3.33 x 10 3.42 x 10"
000000 ¢, =203 x 1072M,/* 2.54 sec 2.75 sec 2.83 sec
- oo s, 411.92 knt 411.92 411.92
05 0000000 Mo, 8.62 x 10" N-m 1.09 x 10%° 1.19 x 1020
o 00000 Ao, 26.7MPa | 14.1MPa! 14.1 36.9
=l= oooood D, 598.3 cm 759.5 827.6
- 00 Sy 152.90 kmd 152.90 152.90
gE 0000000 Moa 3.79 x 101 N-m 4.81 x 10" | 5.24 x 10
=E 00000 Aoa 26.7MPa | 14.1MPa’! 14.1 36.9
OB 000000 Dy 708.1 cm 898.9 979.6
- 00 Sy 76.69 knt 76.69 76.69
= 0000000 Mo 1.35 x 10" N-m 1.71 x 10" 1.86 x 10"
oo 00000 Aoy 26.7 MPa \ 14.1 MPa'! 14.1 36.9
=l= 000000 Dy 501.5 cm 636.6 693.8
- 00 Sy 93.02 knt 93.02 93.02
o 0000000 Mo 1.80 x 10 N-m 2.28 x 10" 2.49 x 10"
oo 00000 Aogs 26.7 MPa \ 14.1 MPa*! 14.1 36.9
0o 000000 Dgs 552.3 cm 701.1 764.0
e 00 Sy 89.32 knt 89.32 89.32
gg 0000000 Mg 1.69 x 10 N-m 2.15 x 10" 2.34 x 10"
EE 00000 Aocgs 26.7 MPa \ 14.1 MPa'! 14.1 36.9
O 000000 Da 541.2 cm 687.1 748.7
0000000 My 1.09 x 1029 N-m 1.38 x 10%° 1.50 x 10%°
O 00 Sy =S—8, 1460.46 km 1460.46 1460.46
- IEEEEER 212.9cm 270.2 2945
O 0000 o, =0.2A0, 5.3 MPa 2.8 MPa 2.8 7.4

QOO fmax

50110 8.3 Hz

0mS,/S=0220000000000000000000 2000000000000

*10 Fuji-Matsu’'ura(2000] 0000 000000000000000000000000000 A =3.1MPal0000O
000000000000 Ao, =A0/0.22=141MPa0 0000000

*2[] Fujii-Matsu'ura(2000Y1 0 My = AcW L?/(0.014L 4 1) = 3.1MPa x 15km x (119.2km)?/(0.014 x 119.2km + 1)
=248 x 10*°°NmO0000000000000000000000000000000000 S,/S=022000000
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